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SLC-135

B.Com. Part-1II Due of Part-I (Supplementary)

Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - 1II

(Business Statistics)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) 3k : 2 x 10 = 20)
Tt T/ e & S ST (SW-EHE 50 I=8) | Yo WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (31 : 8 x 5 = 40)
o H ¥ R Uy % S e (SW-HA 200 I55) | TIE Y 8
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@Us-—N) (3Teh : 20 x 2 = 40)
TR # § Rl S e B I I (|- 500 T55) | TAF G 20 S
gl
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Section—-A
(TUs-3)
1. (1)  Explain Numerical Classification.
TEATCHS R0 ] THEET |
(ii))  State two remedies to remove distrust in Statistical Data.
qHHI § SIfavarE ® W HH TG af SUH Hl ICE HITIT |
(ii1)  State four objects of Tabulation.
TROMEE & o) 3 9aist |
(iv)  State the main use of Median.
HIfeAeht i THE ITART &dsy |
(v)  State the meaning of Regression.
AT 1 2T AT |
(vi) Give the formula for finding out Standard Error.
FAY fayq @ HE K G AR
(vii) State any two limitations of Index Numbers.
o i HE I HHT ST
(viii)) Find out Mode, if Mean = 15.6 and Median = 15.73.
SgeTeh TG hitW, Al TR AEA 15.6 a9 Wi = 15.73 =
(ix) What do you mean by Measures of Central Tendency ?
F5T Y & AN Y 1 ARE T ?
(x)  Give the meaning of Skewness.
faomar =1 s1ef smEU|

Section-B
(TUg-9)
2. From the following data, calculate Arithmetic Mean, Median and Mode :

=1 Ol | TR WA, WA e fasew I it

Wages (in %) No. of Persons

Under 8 5
Under 16 12

8-24 29
24 & over 31

32-40 8
40 & over 19
48 & over b)
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3.  What is a Good Table ? Point out the various types of table.
T To51 GRUT | MU F1 ae9d § 2 WREl fhad YeR #i et § 2

4. Find the most probable price in Mumbai corresponding to the price of ¥ 70 at

Kolkata from the following information :

Mumbai Kolkata
Arithmetic Mean Price % 67 % 65
Standard Deviation 3.5 2.5
Coefficient of correlation = + 0.8

e @ fopelt ong 1 o8 § TR oI T HISE, A Rietehdr § SE O R god
3709 :

P=E] hICTRTAT
THRR H1%9 HiAd % 67 % 65
g9 o= 3.5 2.5
ey T = + 0.8

5. Calculate the coefficient of variation from the following data :

[aWa

fr Tk 9 fo=ror Toms 9| iy

Wages ¥ Up to | 10 20 | 30 40 50 60 70 80

No. of Workers| 12 30 65 107 157 202 | 222 230

6. Apply Spearman’s rank difference method and calculate coefficient of correlation

between ‘X’ and ‘Y’ from the data given below :
T 53 73 Tt 9 o= 1 goft ot fafyr ¥ X0 7 Y’ 1 Te-wrery ol Jared
X 22 28 31 23 29 31 27 22 31 18

Y 18 25 25 37 31 35 31 29 28 20

7.  What is a Cost of Living Index Number ? Explain its uses also.

Ste frate geehi 78 #ed § 7 SEH! SUAIRT off saET)
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8.  Construct index numbers from the following data and state what changes in the
cost of living figures (2019-2020) .
=7 TRl & YA 1 @A A Fagd 7 2020 H 2019 1 e Staq fraig w6
T foran aReads g ?
Expenses on Items | Food Rent Clothing Fuel Misc.
Price (2019) 150 50 100 20 60
Price (2020) 174 60 125 25 90
35% 15% 20% 10% 20%
Section—-C
(Tus-7)
9. Calculate coefficient of correlation between age and playing habit from the
following data :
= T9%i ¥ T qo1 ©od %I KA H He-TrY UM 1 HI
Age 15 16 17 18 19 20
No. of Students 250 200 150 120 100 80
Regular Players 200 150 90 48 30 12
10. Calculate by Fisher’s ideal index and show it satisfies the time reversal tests :
TRYR STIeYT ki i TOMT Shifsg aen fSemsd fo a8 w7 Sormrar wieT ffe TR
ﬁ@% FA ¥
Articles 2020 2021
Price Total Value (3) Price Total Values (3)
I 5 50 4 48
IT 8 48 7 49
111 6 18 5 20
11. Calculate trend value by the method of least squares from the following data :
=g = fafy g swafa 9w
Years 2016 2017 2018 2019 2020 2021
Production
7 10 12 14 17 24
(in crores kg)
12.  What is meant by Statistical Average ? Describe its chief properties and limitation.
Hifer®ha A1 ¥ 9 1 99erd © 2 9% geF O qen aREimnet w1 goi it |
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